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General Krowledge

Which of the following districts has been
included as the 23rd district of the National
Capital Region (NCR)?
(A} Shamli

(B) Aligach

iC) Agra

(13} Mathura

Which 5 the first Indian state 1o eatify the
constitutional amendment bill on the Goods
and Services Tax (GST)?

(A1 Uttar Pradesh

(B} Maharashtra

{C’} Assam

(1) Bihar

Who was the first King of the Pala Dyvnasty?
{A) Gopal
(B} Mandlal
{C} Dharmapal
{0 Devapal

An estate where a single cash crop is grown
for sale is known as

{A) Subsistence farming

(B} Kitchen garden

() fhoom cultivation

i) Plantation (farming

Which planet besides Neptune is known as
the “Blue Planet™?
(A) Earth

(B} Mars

(Cy Pluto

() Jupiter

Which ol the following is NOT a nable gas?
(A}’ Krypton

(B} Argon

(T} Xenon

{TH Chlorine
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Q7  Who i the author of the book “The W=
Wiy Girl™?
LA Mahaswets Dew
(B3 Ruskin Bond
{C) Enid Blyton
(D) Olivia Fraser

08 ~_isthe founder of the Gulabi Gang —
an Uttar Pradesh and Madhyva Pricdesh based
socinl organisation which works for women
welfnre and empowerment.

{A) Sangeeta Pal Devi
(B Sampat Pal Devi
(C) Sheila Pal Devi
([ Mishi Choudhars

9 Moradabad is renowned for _work
and has carved a niche for itself in the
handicraft industry throughout the world.
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(A} copper (Al ’-ﬁﬂﬁ
(B} brazs |{H) LT
1 dinmond . . W) B
E]’.':J steel Jﬂbn}"'a-'n (D) &
Q10 Which was the first country 1o allow women Q10 wigem fE 2w 3 AfEE & maEE 6
1 vate? st wara & A
{A) Saudi Arabia (A) Fhol—34
(B} India (B} HITd
(C) Mew Zealand (Cy e
(D) Russia (D) wH
Jobriya.in
Q11 Whichmovement in Indiawas fed by the Ali Q11 AT A e agal, e g i A -
brothers. Shaukat and Mubammad AT fiay arater- &l Aged [ =ne
(A1 Quit Indiz Movement (A) =T W aETE
(B} Khilafut Movement [iw) Taam e |
(C) Chalo Dilli Movement (C) R aan siidrer
(D) Boveott Movement (D afgsr wigeE
Fd
Q12 Part1V ofthe Indian Constitution deals with Q12 el SR @ AT IV e B
ferron wee e
M_F;danmnlal Rights (A} HFmpl Wl
:H; [irective Principles of State Policy hB‘,I o o A0 R Rk
{C} The Union Judiciary (C) | o e
{0} Parliament (D) Hae
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Black soil is also known as soil.
(A) Regur

(B} Humus

{C) Bhangar

([ Crestalling

Sardar Yallabh Bhai Patel University of
Agriculture and Technology (SYPUAT) 2 an

&

(A} ¥

() FHe
(Ch 7Y
(D) fddesia

0 wEd &

TGN e g udd, s o sl
ferpafaqarara (vadlfigudl), smea &

agriculoural university al in the Indian FETEHEY e Ho 5 fuem us
state of Uttar Pradesh. it BeaRremaa §)

{A) Lucknow Jﬂhrlya'lq{ﬁ.! TS

(B) Pantnagar (B 9=

() Meerut E:.‘} i

([} Saharanpur (D) FERTE

Article 4 af the Universal Declasation of

Human Rights {UDHE) deals with
{A) Freedom from Slavery

(B Baght vy Education

(T Bighi o Own Property

(D) Right to Marriage and Family

(B) R = afien
(Cy [Fall Holid & afimm
(D) s v wiaw @ arftems
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Which Indian NGO won the 2017 United e e o\t v wwsrd @vea &6l
Mations Development Programme’s (LINDP) el w w5 s T &
Equator Prize for promoting an ecologically LGN By g firmrs avrd g
sustainahle farming mesdel? (JuTE) 2017 & gdded YR R
{A) Smile Foundation fdwm T &7
{B) Pratham (A) TIEA HESTA
{C) Swavam Shikshan Prayog (B} nus )
(127 mamman Foundetion II_L":I Lo B

; . (D) TEF EIdEIH
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What does a light year megsure? VFE‘TIET i, faet A e 82
(A) Distance e |[M il
iB) Speed EVED
(C) Emergy ()
(3 Weight (D} o=

The colour of the human eyve depends on the
pigment present in the ol the eve.
{A) Iris

(B} Comea

(] Face

{1 Lens

@

R i Al w A oA w
Ruey dngay = Foiz s &)
RS
(B} @il
{C) w4
(B &%
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Who wrote the book '!-lind Swaraj”?
(A) Maohandas Karamchand Gandhi
(B) Gopal Krishna Gokhale
(C) Bal Gangadhar Tilak
(D) Maulzna Azad

Which of the lollowing regions of Litar
Pradesh was known as *Chedi” during Sixth
Century B.C.7

(A1 Bundelkhand

(B} Avadh

(C) Ang

{0 Avanti

Who was the last ruler of the Maurva
dynisty?

{A) Ashoka
(B} Bindusara
{C) Brihadratha
(D) Pushyamitra

In anciemt Indin, the ashram of Jamdagni
Rishi was in Jamaniva, which was located in

Jobriya.i
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(B} a7
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022  wrEim wEa #H, ot s oW s
i1 g 1 e 1 s e 4 e

district of present day's Uttar = . oo F fem B
Pradesh, [ELC R
(A} Lucknow
(B) Ghazipur TS
(C) Varanasi (D) g
(D) Siapur
King Harshvardhan established a large eenter Q23 e g i, wa—fEw
of knowledpe which was called as *Rhadra- AE G F U gEg dig @ T
Vihar'at Ell
{A) Mathura (A) A=
(B) Kashi : ;B T
{1 Kannau) JDbl'Iya.l =1l
{[3) Hardwar (D) #EER
Who is better known as *Firaq Gorakhpuri® 024 Tg W § T TeE & T H 8
in Urdu Poetry? afeg &7
(A) Dwariks Prasad (&) gis wag
(B} Bishan Marain (B) fagm =g
{C) Raghupati Sahay SRR ]
{D) Nawal Kishore (D) =del fmae

SET-55



Q25

Q26

Q27

Q28

Q29

Which of the following song forms are sung 025 G =0 - aive & A F PAeiatm

in the rainy season in Uttar Pradesh? W == = 7 MY A #e

{A) Birha (&) ==

(B} Rasia By =—=

(C} Chaiti (Cy T

(D) Kairi Dy T

Diewa Mela at Barabanki is held every vear Q26 F—& =7 T ot e
in the Hindu calendar month of Kartik on w=== =7 ¥g Selad @ @ Hem 0 Uk
the occasion of the annual *urs’ of the famous . TEIoET A wal ue e s
Sufisain Joﬁrlya. in s

(A) Nizamuddin Auliya = afifer

(B) Waris Ali Shah B T-= &l 3

(C) Moinuddin Chishti P |

(D) Salim Chishti 3 ===

Which is the first state in India to have made @ SRR e s Rl e B R
roof top rainwater harvesting structure o= T TRy & Ul o doee sfrd R
compulsory for all the houses across the K- i

state? {A) SO R
{A) Uttar Pradesh . . HERTE °
{B) Maharashtra JDbrlYa“ﬁﬂW‘
{C) Tamil Nadu () HATE

([} Kamataka

The ‘Slash-and-burn’ agricultural method of Q28 nemEw A a5 ot R 5w el &

farmingisalsoknownas _ inMadhya i W R E
Pradesh. T
(A} Roca (B .
(B) Penda {C) alam
() Dahiya (D) FHan
(D) Kuruwa . .
Jobriya.in
Which of the following books wrilten by waEd w9 @ dRE gten afde e
Tbrahim Adil Shah Il during the 1 7th century T ol a0 Feforiem g,
is u collection of songs in praise of Hindu fég el v e witst & e A
deities and Muslim saints? rgfera ] w1 e 27
(A) Gita Govinda (A frgie
(B} Kitah-g-Navras ',I_B'l ferema — g
(C) Padshahnama (C) e aIE=I

() Mumakhab-ul-Tawarikh (D) TeEE- 3o - A
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In Cammatic music, an ‘alpana” is similar to a/

[A) Tarana
(B} Tal
{C1 Alap
() Tilana

The Indian scientist and professor of Physics
_read a paper on the theory of stringed
instruments before the Roval Society of
London in 1921 due to his deep love of
FHESAC,

(A} Jagdish Chandra Bose

(B} HomiJehangir Bhabha

{Cy C. V. Raman

{D} Vikram Sarabhai

____is a simple too| which is used for
removing weeds and for loosening the soil.
(A) Hoe
(B) Rahat
(C) Dhekli
(0} Moat

Which of the following human diseases are
caised by bacteria?

" (A} Measles

34

A=MS

(B Polin
(C) Hepatitis B
(D) Typhoid

In which of the following Latin American
countries did a water war happen in the vear
2000 against the privatisation of water
supply”!

{A) Argentina

(B) Brazil

(C) Bolivia

(D} Peru
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if o 2ooo # wet o syt @ Frofteor @
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(A) ardarn
(R} AT
(C} et

(D) O3
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The Headguarter of the Commonwealth
Human Rights Initiative (CHRI) is located
at .

(A) London

(B) Accra

(C) Mew Delhi

(D) Swdney

Which was the (irst foreign destination that
P Modi chose to visit after he was sworn

}y/:r'fru Ty BRER Tsd (AN OARITE)
- E e S i fum 21

(A) 737
(B) ¥
(C) g el
(DF T

o w5 0 o ) ] Ny 3R ) @
a1g wovym e [t Sw e 9w fem

&

7 Jobriya.in=
{A) Bangladesh - (A} aTT=E
(B} Nepal BY -
{C) Bhutan

(D) SriLanka

Which of the following countries shares its
boundiries with the Indian state of Utar

Frerfafag 4 9 &9 W 2w WY TS
I wEw W APng e s @?

Pradesh? (A) =

{A) China ;

(B) Bhutan hﬁﬂ ;E% |
{C) Mepal i ) I RCIRIEE)
(D) Bangladesh Jobriya.in

‘BIMSTEC” is a sub-regional group
comprising of seven countries of South
Asia and South Fast Asia headquaricred
it ;

(A) Kathmandu

(B} New Delhi

() Colormbo

(D) Dhaka
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Select the word that belongs 1o the given (77 9 9 & G Tl @ U e an
eluss of worts., ' A HafT &/

Papaya, Apple. Guava e, ¥, S

(A) Pear [(& s |

(B) Potato {1B3) i

(CY Brinjal (Cy A=

(1) Pumpkin (M =g

Determine the missing number Q78 arfer Ty Frafa &
346813 .24 o 346813 M

{A) 20 ! (A) 20

By 18 , iB) 19

€y 17 ) 17

(D) 18 P8 |

What will be the th number in the following Q7o Pt angga 4 adf e S a9 a7
sequence’ ' ' P12 T81516 2 )

12, 34. 78, 1516 (A) 256257,

(A} 256257 (B} 5356

(B} 5556 Jnhriya.iﬁ* $657

(C) 5657 () 255256

(D)) 255256 ;

What will be the next nurmber in the follewing Q80 BrerialEa argEn 0 ammi wem @ T
sedjuence” b g7 Fir

100, 121, 144; 169, 7 {ﬂﬂ 131,15, 169,

(A) 198 ! . 198

(B} 196 Jﬂh”ya-"

(C) 194 {C) 194

(o 192 (D) 192

What will be the | Teh better in the fallowing Q8] Prafafem srpEw A 13 3eR S m
sequence”? gpay?

A, G E AvQ BTk

(A] X (A) X

(B) W (B W

C) ¥ () v

(D) U

What will be the 7th number in the following Q2 Ferferi Agem # 7l s :!fFr it gt
sequence? 356 12; 24"

3,6, 12,24, (A) 96

® 1

B) 144

EC; 2 Jobriya.in m} m
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o owm o a

IFTIME = 209133, then CLOCE =T 3
(A) 31215314 "

(B} 31215511

(C) 31215311 : £ -
(i) 31905311 Jﬂhr‘yaln
If Sheena is 40 m towards South-West Eﬁf Q4

Teena, and Roena is 40 m towards South-
East of Shecna, then Reera is in which
dircction with respect 1o Teaﬂa'?

{A) Marth-East .

(B} East

(C) West

(D) South

B3 is standing 2 km 1 the WesQol A, C

direction is F with respect to AY
{A) North-East

{B) East

(2} South-East

{.H] South

Consider the given statements to be true and
decide which of the following conclusions
logically Follow(s] from the two given
statements, disregarding commonly known
facts.

Stalements,

Seme hens are ducks.

All the ducks are pigeons.
Conclusions:

. Some hens are pigeons.
1. Some pigeons ase ducks.

{A) Only conclusion [ follows.

(B} Omly conelusion 11 follows.

{C} Neither eonclusion | nor 1 follows.
(D) Both conclusions 1 and 11 follow.

Q85

Jobriya.in

)86

Jobriya.in

Ffd TIME = 209135, @ CLOCK =72
(A} 31215314
(B) 31215511

() 31215311

(1) 31915311

afy ¥ & @ gliv-alim $) siw a0
e A wf ue & Al e e @ s
it iy 40 Alew @ g o ke ¥ S
o wres [ e 4 @9

() T

(B)

(L) giF=
EJ‘ FE

B, A @ gigw i 2 feamiiet @ 90 W E)
C,B & w1 fddes o D@ gd 4
2 firerfes g ov 21 E D& gfEm 4
4 Freiew afw F & of¥aw i 5 Reivies
N W R AS w F R R
(A) SeETe=1d]

(B) yd

(D) T

fre aro el O¥ e Y afe, W
Sie el W OSSO gY, 46 T
i f3 Fren 9 & w—a el 27 fag g
] T AR w4 T e #
TR

Fw At aog #)

WA A T R

o

1w i e

Il =@ W o E)

(A} Sae Tt | o @ B

(B} daa Fremd 11 oo @ g

(C) = o Frsd 1 aite = 8 Fmee 11 W=
| |

(D) Forsa 1 909 P 11 20 81 s
H B
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Q47

83

Consider the given statement and the
following assumptions to be true and decide
which of the assumptions is‘are implicit in
the statemnént.

Btatement:

Save water, zave the earth.

Assumptions:

.  Earth saves us from danger,

11. Water is colourless,

(A) Only assumption T is implicit.

(B} Only assumption 11 is implicit.

(C) Neither assumption | nor 11 is impﬁ:;'lo b I | y o

(D} Both assumptions | and 11 are imphicit,

Consider the given statement and the
following assumptions o be true and decide
which of the assumptions is'are implicit i
the stalement.

Slatement:

Group discussion is good to develop

communication skills.

Assumptions:

I. Teachers must arrange for group
disenssion in the ciass,

11, Each child should be given chance to
speak in a group discussion.

(A} Onlv assumption | is implicit.

(B} Omly assumption I is implicit,

{C} Neither assumption | nor 11 is implicit.

(D)) Both assumptions | and 11 are implicit.

Which of the following is NOT a prime
number?
(A) 1001
(B} 1301
(C) 1601
(D) 1901

Select the most appropriate option 1o solve
the equation,

90 +6 »(24-8§ +4) +3=

(A) 1K

(R) 20

1

© s
(D 16

ORT By 7 Fum ofw faefatan aromeit @t
= oF M v o B oamm d e A
= e ambifen 8 o#)

——rep
Teta

=l 1l | s

o ———
T

| 7edt 2wt 9 wERh g
[ T+ e &

(A FEw wwom | afifes &)
(B Fer= o (| amfifzE £

(C) AT A B LA e iR

NI ET
(D s 1 3t e 1] 28 aieffe 21

v e e afe Fpefaiag amma) @

wi wAd A Pt & e e A @it @

ST SEReTG AR B

T

wom ahare s w5 fog g et

W &

A=

. Towrn wem o woqp =l & g @
e g |

CRE

Jﬂbriyafbirﬁ: T F W ol A

e e wfee )
(A) diam g | ot &)
(B) s won |f afEfea &)
L e O O B (O | B I
&

(D} ©TRET | (1% 1990 1] ar) dcreied ¢ |

QR0 B # 9 @ ) aeren wEm e Ev
o | e
(8 ( i
LJ- -5
< (0 le8t
(D) 1901

@ wﬁm@ v #F @ wee S

= I‘_ﬂ:"l]%

1
= 00 +6 (24 -8 +4) =3=
_d_____._M

{A) 18 —_
i

(B} 20 }FL

| 1=
4

{0 16
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Q92

Q93

Qo35

* savings would have been ¥

Select the most appropriate option 1o solve
the cquation.

[55%12=

iA) 18.06

{B) 18.6

(C) 1.86

(D) 186.0

Select the most appropriate option to solve

091 wmwﬁsﬂ_ﬁﬁmwMﬂ
fommen &1 T
I55x1.2=
(A) 18.06
¥ 18.6
(C) 186
(D) 186.0

092 T ) EF = & (o TR 9

the equation. 5 . : 11 56
% Jobriya.in fese g pgT
g 33 ;!
. (A) 35
(A) 37 =
- B 73
® 75 i
o | (©) 33
© 3 |

! b 27

J 3
(o 215 x '

- Jobriya.in
The HCF of 52, 78 and 156 is ; 093 sz, 78 ot 156 T WEWH glrEned
(A) 13 R 11 R —
(B) 39 (A) 13
(C) 26 R) 39
(D) 2
) 2

The LCM of 52, T8 and 156 is _ = Qo4 5z 78 3R 156 T g AT (g
(A) 156 '3 a1 |
(B) 312 _ (A 156
(C) 234 Jﬁbriyﬁ.l
(D) 468 (C) 234

The monthly savings-expenditure ratio of
Mrs Singh’s family was 3 : 8. Ina meanth in
which the family's income was T 27,500, the

(A) 7.975
(B) 7.500.
(C) 10.312.50
(D) 9,600

(D) 468

055 Sy fiig @ ufam w1 =i Ted-ad
ﬂmz:a,umﬁ‘:mnﬁaﬁﬂﬂﬁaﬂﬁ
g T 27,500 ok, T WA A awn EBRi
(A) 7975

Lie) %7500 !

TSEALEIE

(D) 79,600

SET-55



Q96  Thedifference between a 13% loss and 11%
profit while selling a toy was T 108, What
should be the selling price of the toy if the
profit carned was 12%? -

v ! ':_'_'

@ﬁ;m%ﬁﬁﬁr@%mﬁaﬂumﬁmw
i ant i T 108 & | 7T v w120
&1 ol faeh o fawa e owm &0
(A) 2440

(A) T440 (B) ¥ 480
(B) T480 [{{‘} T 504
(C) T 504 (D) < 514
(D) T 514 Jobriya.in
Q87 17 45% of a number is 135. The number is Q97  fore v T 45% amiw 135 2 a8 v
; T &7 ]
(A} 243 (A) 243
(B) 275 (B} 275
(C) 280 {C) 280
(D) 300 (D) 300

098 A set of cups, when sold for T 720, led 10 a
loss of 20%. Al what price should the set
have been sold -ﬁ“‘ mj‘ke a profit of 5%7
(A) Tors
{B) T950
(C) Fo45
(D) T935

Q99 A pair of trousers with a marked price of
750 was sold at T 660 during a sale. What
was the percentage of discount that was

Q98 w9 T U@ ST w@a T 7203 @ed w
T, T 20% W TEEE g 5% & a
o & fan B @ R $img w3 s

Jobriya Eﬁws

(B) T 950
To45
il

Q99 2750 ® fb S ol weE BE @
W T eo0 we Al g o) gEE [
pfderg e Y wEv

o
(A) 12 ; _
(B} 125 (C) 11.5
() 11.5 (D) 14
G Jobriya.in

QI00 What would be the interest pavable on a
deposit of T 1,500 invested for four years at
8% simple interest per annum?
(A) T 500
(B} T 480
(C} T 520
(D) T 475

LS

Q100 &% afie wamm 2050 8t 23 5 P 1500
&1 4 Wel & @ sy
(A) T 500
b
() T 478



Q101

Q102

Q103

Q104

A sum of money, when invested at a certain
rate of compound interest per year, became
.21 times the sum invested on maturity after
two years. What was the ratc of compound

QN

o T 1 WA At gl el T U
frfrn oy we BEw fEn omen 2 dl @
W dtE R @9 ue g8 Fafla ol e
121 10 B el & | Gl alE eI &l

interest per annum? %% 9 87
[A) 11% (A) 11%
(B) 10.5% _ (B) 103%
() 10% JDbrlya.lrw 10%
(D) 9.9% (D) 9.9%
ad oty 3/m A e o 5 agrE T

Sathi and Rathin invested some rnﬂmif( ﬂ s 2002
rew” '

husiness in the ratio 6 : 5, but Sathi wit

her money after a few months. 1f the end-of-
twelve-months' profit was shared between
Sathi and Rathin in the ratio 7: 10, for how
mnany months did Rathin alone invest?

(A) 4
(B) 3
(C) 6
(D) 7

Samrat has an average of 51 after 11
completed innings. How much does he need
to score hefore getting out in his next innings
to raise his average by another two runs?
(A) 75 4

{B) 78

(C) 80

(D) 82

1 16 people can build a wall in 15 da‘i-jL%tv?
many peaple would be needed 1o build it in
8 days?
(A) 32
{B) 23
(Cy 24
(D) 30

¥

aaam 4 me U8 @ Pde ), e
@Eﬁﬁﬁ%nﬁﬂﬁ#mm&wmmﬂ
forar ) afy mdE AR & A 4 @ W 710
# aER § W SR W @ dE
Pt W e, 2Er o fhoA weE A
Pt T =?

(A) 4

s

Jobriya.in© ¢

o7

Q103 1 Wi R el & we wET R

g & argy e @ = T EEE @ R
Far w1 e e Wi # R O e
Fe @ ATATEE B7

75
(R} 78
(C) BO
(D) B2

rly%idﬁuﬁ'f 16 =1t o dEw 15 Tt A aen e

£ ®ra R 3 w9 am @ e R
anfet B aawd B

(A) 32

(B) 25

(C) 24

() 30




0105

Q106G

107

Two trains, A and B, start simultanecusly
from twao stations X and Y that are 600 km
apart and cross each other at & distance of
225 km from X. If it took train B & hours to
complete the journey, in bow many hours did
train A complete it?

R X

QIO e AR B B g et o o

Y ¥ U WA F W ol T
28 A s0o fremies g3 & A & X0
# 228 e o g8 e vw ogw W
TR & ) IR R amE gf) e
GE R ot RS RN g o TR
e w2 wf?

& Iﬁ% (A} 162
®) 12 Jobriya.in 3
() li; " hf
@y 132 95
. _in) n% :

The internal length, breadth and height of'a
closed box are 10 em, 8 em and 6 cm

respectively, The total outer surface area of

a:ﬂﬁa%maﬁmm.maﬁfm
a:mimmﬁfﬂi‘lﬁaﬁﬁmann

HEER 8| diew @ AR w9 g

the box is 592 cm?, If the walls of the I:dﬂbﬂym 502 TAHEEE 7 ) oft g o dard

are of uniform thickness x em, then x equals

T HEF R x Wiy @ 2 o x @
H= &7

(A) 1.5cm {A) 1.5 TNy
(B} 1.25¢cm (B) 125 #fhiew
(C) 1em (C) 1 T
(D) 0.5¢m (D) 0.5 #@dfee
Jobriya.in

7 experts and 5 trainees can compléte a job
in9 days while 4 experts and 15 trainces can
complete itin 12 days. How many days will
35 experts and 6 trainees need to complete
the job?
(A) 1D

{B) 12

4-45

{C) 14
() 15

M

Q107 7 Ferw a5 ultey Bl B = o R

# o v wa & oafs 4 R o 1s
aftieg %1 12 foot & g @ wed € s
Rdtwst ahe 6 wfemg w2l @ @ aerd Rt
} qur & we

{A) 10
iB) 12
(C) 14
(D) 15

KET.RE



e

Qs

Q110

Qi1

o112

o113

Devender leaves his home cveryday at & am
and reaches office at 9 30 am, One day. he
teft his home at § am but travelled a third of

3
the distance at ! of the ususl speed and the

1
rest of the distance al 5 of the usual speed.

At what time did Devender reach atfice on

Q108 Wi ¥6a e s00 49 W A P
e gan T wElEs g &) TF
A ST EY 800 o1 BISL, wifde we

i # 3 ) 7t ou o foed gl W Al

ﬂﬂﬁjﬁ{ﬁﬁiﬂwmﬁﬁg &

Ry T gl A gEm ga B e T
. s wEar

¥

that day? .
(A) %:25am  (B) 9 mamdnhr'ya-'qft‘ s L
() 9:35am (D) 940 am v O 33 am (D} 9:40am

Select the option that is related to the first
term in the same way as the fourth term is
reldted to the third term..s &©

EARTH: Y‘F””S :‘,Kﬁl:‘;l.'r'l_.‘
iA) GBSU

(B GCTVI

() CYTV) ’-

(n CYPUI

Select the word pair from the altemnatives in
which the words are similarly related as they
are in the given word pair.
Protit ; Loss

(A) Breadth : Width

{B) Surplus: Deficit

() Viable : Feasible

(1) Vacant ; Empty

Select the wption that is related to the thind
werm in the same way as the second term is
related 1o the first teem,
Gold - Necklace & Tron = _
(A} Shirt

(B} Ribban

{C) Book

() Bucket

YLENTSI is to “DLOUT as “GRIT s o
{A) HORST
(B} ALLMS
(C) AFT
(D) HINT
-
‘BAG isto TED as"GOD' isto* "
(A) KSA
(B) LSA
{C) K5B
(D LSB

Q109 @9 fime 1 T Y uf] TR us 9 S
TR Tamn & fre aEE e ve R 0e
B dfER #
EARTH : _
A GRSUS
{Cy CYTV]
(Dy CYPU)

o VENUS : XGPWU

-

ot1o fae gy Rwell @ T8 =T i e
v T um Haftwm # B R 0 R
LT Wag-AH A G

Jobriva.ig : =f c

A) ar e
(C) %: T[T

(D) =el : e

et Fameq @ @ e ol e 08 ¥ 9
wme et & Fi W e g TEd U
W walin 81

AT B 2 T 5 i

Q1

Jobriya.irfy fr

Ry e
[(D) HT% |
LENTSI" 1 ferra DL 8, &¢f . | o
TTE T L SR, SRy

(Al HORST
(B) ALLMS
(C) AFT
(D} HINT

Q113 1‘”&_}3 1 e "F'i:|1.: 8, g W GoD’
FT T " B

#R) KSA
(R) LSA

C)_KSB
h

oo T EE %%



14

115

116

wEI1T

L ] b

Mental Aptitude, 10} & Reasoning Ability

Select the option that is related to the third ON4 ~F een @ oue © o e T & adt
term it the same way as the seeond term is -7 Fald & T U g 9E UEe
related 1o the first wrm. L e e I TR

16264+ 227 (B[Rt « 22 =

(A) 220 AT

(B) 440 5 I

) 284 ’ WD) 284

(D) 495 Jobriya.in p. s

P is the sister of Q¢ R is the father of Pand 5 (115 PO o 75T &R P R 8 ol 5, R0
is the mother Df%ﬂin:g»‘ it S related to Q7 - IO Fll s oAb 27

(A} Grandfather BV i

{B) Granddaughter (B T

(C) Grandmother i} =T

(D) Mother () Hl

Durga is Bhanu Pratap’s wife, Durga's :--‘.mJDm“y%ﬂlm:[ w3 ol § | g o i e

Vijay has two sisters, Shalini and Malini. o &y wed, anfE s afaed &) e
Shalini's husband Murugendran his a son, T afit qEerEe W O e, ffEe g e
Shivam. How is Shivam related 10 Bhanu s et | P wane el 287

Pratap? = - {A) sPme

(A} Son-in-law (B) 9=

(B) Son 1) =

(C) Grandson EGIE]

T Jobriya.in

Manish is Garima’s hushand. Paresh’s wife, QN7 s, nRmow ol @ o o aReh
Nalini has a brother. Hgnesh and a sister, T T AT, @l 3ty v weEr, afta &)
Garima. How is Jignesh related 1o Manish? R, i 9 e v wafem 27

{A) Fatherin-tow (A) TR

{B) Brother (RY Wrd

(C) ‘Son-indiw (C) T

(D} Brother-in-law (D AEAE

21 SET-55




Q118 In the following Venn diagram, which
number best represents Indian crop which is

a cereal but not rare?

Qlig Tl 49 o W @ W e T
sl e ) dwey SRl # ) o
i geta T 2

A% T %\
5 | B % - )
<t—:/ |Jobriyain S
]

.&l— &H—-
[T] oo [ e
D T (::} S
O T Y,
(A) 3 (B) 4 :}ﬂﬁ {B) 4
{cy 7 (D) 3 iy 7 (D) 3

Q119 Whichofthe following numbers in the Yenn
diagram shows the colorful singing hx'ﬁilbriya i

7

A4
D BIRD
.& CoL0aruL
() sinGMG
(Ad 3 {H) 6
{Cy 7 (D) 2

Q120 Which of the following options best suits the

following Venn diagram?

(A} Metal, sodium, fluorine

(B} Thyroid gland, pituitary gland,
endocrine gland

() Grandfather, father, 300

[ T [ B NPT

0119 ﬂﬂamﬁﬁﬁmﬁﬁaﬂq#ﬂmwﬁ
ey e Tt = i 87

J\ coLoRFUL
() BINGING
(&Y 5 (B) 6
(C) 7 i) 2

Q120 Frefaliea 4 | ®F fere =g
¥ arrw @ fo v wwgE &7

Jobriya.in

(A) T, i, TREE

(D) s, drw i A 1)
(C) B firem, g4

(g are, wwr gad, aae |




Q21 Which of the following numbers in the Venn

dingram represents the soft- hearted teacher?

A e
] 5ot Heartas

() Teachar
(A) 2 (B} 4
(C) 3 (D) 3

2122 Which of the following numbers in the Venn
diagram shows the wicked black cat?

Q121 ¥ amv & Frw 3 & @ ) s so
T o gl &7

{AY 2 .

(<) 3 (3]

Q122 =9 o f Fm | A @ 2 wen el
et foeht @ swidi &7

' h
Jobriya
4 % T Wicked 4 % ] Wicked
/[, Black M Black
() cat () cat
(A} 1 {A) 1
(B} 2 (B) 2
(C) 3 HET 3
{4 (D} 4
W23 Find the odd figure from among the Q123 P ampferdi # & aima o geam
following; it
T ~~ dJobriya.in -
et 3 =Hs) e oo
(A) |\ ol (B) R, (B)
RM;E-'T‘ @ AT 8z *
il N Ty r-:- i, l..-‘-r'_‘-\‘th
Y . o i
- Sl TS B

RS




124 Which word does NOT helong with. the
others?
iA) Graph
{B) Bar graph
(C) Histogram
([ Maonograph

0125 Identify the odd one out from these
alphabets:
(A) A
(B) F
() E
Dy 2

Q126 Identify the odd onc oul from these four

figures.

L

A B

(A} A
(B) B
(C) C
() D

0127 ldentify the add one out from these four

figures.

(A) A
(B) B
(C) C
(D) B

Q124 e B T A vl @ B
(A} 4T

(B) g AR
iy T
([ AT

Q125 [t A} # 9 s ) gEeEr B

(Ay A N |
(B) F =

Jﬂbriya,in ) E -~ %

(mz -

- -

(1126 & um sl § & SwTE B
)

Nuels

A

(A A
(B B

cy €
I;D} D <

Q127 ﬁﬂéﬂﬂaﬂ@ﬁ*ﬂﬂﬁﬁwﬁqﬁww
F |

e

(A) A
(B) B
(C) C
(D) D

i b

Fak oL L



28 Find the odd figure from among the
fallowing:

b
X
(Al
(B) @

-
N H"'.

hx =,
© Ly
g

129 Out of the five letters marked (a), th), (¢},
(d) and (e}, four are similar in a certsin
manner. However, one letter is not like the
other four, Choose the letter which is

different from the rest,

e

’1? Z [A

B ® i @ e
{(A) b
(B) a
(C) e
(D) e

<130 OQut of the five letters marked {a), (b}, (¢),
(d) and (c), four are similar in-a certdin
manner. However, one letter is not like the
other four. Choose the letter which is

different from the rese

S|IT|U |V | W

fal L4 kel i e
(A) ¢
(B) d
C) e
i a

Jobriya.in e,

Jobriy®in® © W@

(28 Fe=lEiEs oot 4 | s o e
FL
—

x .Lsr:'.

1A “ﬂ
oy L8

) | v
4 —

—
L}

(¥ _r:

Q129 qak (b te) (d) 3R (o) 9 fwr da e
i@ aw [l Aif e w8 eettE
UEh MEW S T O 9ET | W aee w)
T Gl s aenl B fies &y

E &

vJF,
_Ht,.-"'

(B g
) ©
e

QI30 (a), (b), (¢}, (d) 3R (e) & aifra ofa s
# o un W R O we ¥ e,
U SER AW W T B 9 e @
AR B

. Y. 8 "'}J:r fal e
[STT UV W
fal Y] =] W (™
(A) e
(B) d

) e
(Y} a
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(131 The problem figure follows a certain Q131w angply A Frivea &n # By

sequence. Select the choice from the answer aprpfemt # & W el @ e ol
figures that continues the sequence. ow g A e
Problem Figure: vee MR

Jobriya.in__

Answer Figure:

JOTY @@W:

(A} A (A} A
{B) B (B) B
(€) € €y C
(D) D (D) D
Jobriya
0132 Select the correct image that will appear in {} yeFifife 1 TTE ST W TEEE
place of question mark: ety
- 9 gl '.:_‘u_;" ?
| il b | w i "._“qu-Ji |I.—‘._!_ -:i ey ] . _l:_ _.'
= '!-u"_llit_‘j;il .|-_.:?ir .
[— "h,
my V%

(A)

(¥)

WP

@ ’ —
. “*) Jobriya.in =\

S .

©

4% R G
i)

{m

Wil



2133 Three out of the four figures given below 0133 A & 7 T aelt § e S fad

34

A-M5

are similar in a certain manner and one is e ofts 41 va v & ol T e
different. Sclect the figure which is different B 99 3N o 5 @ e e @ B
from the others, 2]
njlut Jnjjdc ﬁ “ SRR IET =
LUElaUjlEuyian :'._|| U”:II'TJ
A [ ] [ o C (1]
Jobriya. |r1
{A) A iA) A
(B} B (BT B
{C) C (€] C
D Dy B
Select the comrect image that will appear in 0134 usae & ang a8 WP T TEEA T

place of question mark:

A

: i 1
& anriyA'\
@

-
LR ]

« (O
i C e I
' Jﬂhriya,m o
: v
o () o [0
® -C
(D)

29 SET-55



0135 Study the meomplete figure titled =X, and
then select the correct option which will
complete “X"

Figure X:

| A

r{;E-p—l—
IS

Amswer figure:

|

& L] © L]
(A) A
iB) B
() C
(D

(136
figure:

|

B

al
o |wal? |

(©) IE\IE EEE-

Q137 Select the comect Image that will appear in
place af guestion mikirk:

ot ﬂ-j\jﬁ:::d-?w ]

w ] ® \\_Cﬁ ./

h“x. __,.

A N
© \ &/ o H-d__;'f

Al (B)

(o)

i RAE

Find the correct mirror image of the given

Jobriya.in

Q135 ke =X arefl anpi srpft & e o
A T @ Trves w9 all <X, &1 0
T |

W

Jobriya.inzee s -

APARIE

(B} 13
(&) C
oD

Q136 = ard angfy am wd ado giifaR g e

] o0

G137 aEiRie 6 TE Tl sl & nEEn

Jobriya.in

<

@ Gl
B P
A P 7
© \ &2/ oY)

2% EET-:‘J
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0139

Q140

Consider the given statements 1o be true and
decide which of the conclusions logically
follows from the statement.
Slatements:

All flowers are blue.

Blue means pink.

Conclusions:

L. Some flowers are pink.

1. Some flowers are blue.
1. All flowers are pink,

(A} Only conclusion [T follows
{B} Only conclusion 1T and 111 follow
(C) Only conclusion 11 follows

() Mone of the conclusions follows

Consider the given stitements to be true and
decide which of the conclusions logically
follows from the statement.
Statements;

Vehicles are machines.

All trucks are vehicles.
Conclusions:

I.  ¥ehicles are trucks,

II. Machines are vehicles,

M. Trucks are machines,

(A) Only conclusion 11 follows
(B) Onby conclusion [ follows
{C} Only conclusion and [1 fallow
(I None of the conclusions [Gllows

Which of the following assumptions is

implicit considering the following statements

10 be correct?

Statement:

“In order to bring punctuality in office, we

must provide canveyance allowance to

employees”, says the GM tothe HR head.

Assumptions:

. Allowance wall not help in increasing
pune il by,

1. Discipline and reward goes hamnd-in-
hand.

(AY Only assumpfion 1 is implici

(B) Only assumption Il is implicit

(C) Enher I or Il is implicit

(D) Beth L and 11 are implicit
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0141 Sclect the option that is related to the third
term in the same way as the second term is
related to the first term,
65:8:82:7
(A) 7
B 9
i) 8
() 38

iy

(142  Select the aption that is related Lo the third
term in the same way as the second term is
related to the first term,

Books ; Knowledge :: Films | 7

(A} Frustration

(B) Entenaimment

(Y Havoo

{1y Emancipation

(3143  Inaboat race, Raman came ahewd of Vaman
b a | (1-second margin: Naman came ahead
of Gagan by 12 seconds; and Laddan came
ahead of Madan by 18 seconds. Vaman
finished just | sccond after Laddan, and

Ql41 @ e w wad w ol de 0 8 el
werTT ¥ERA @ f wew g aw O
ug ¢ Hatte &)

65:8B:82:7

(A T
109
C) 8

" . i
Jobriva.in o

Q142 o fwe w aa & ot @ om el
W HdRE & fom g e ug ued
g & et #

vﬁﬁﬂﬂrﬁﬁ:ﬁlﬁﬂ:?‘
R oo

(C) dam]
(D) Hid

U A g T, A R/ 10 Hea
TEe: SR, T @ 12 s v AR wE,
e ] 18 THE UEE amen & | A, w9
ddl | TWE g A AN aEE | 2 O
g ors g wvw & Ru m B A A @
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Naman finished 2 seconds after Madan, #rs i wem s 87
Who among the given friends ﬁniameijﬁr;!b . ¥

in the race? O Flya,iﬁ

iA) Laddan C) drme

(B) Raman HB) 1E-

{1 Vaman

(D) Madan

Six friends, Lata, Mala, Neghi Ol Parmieet
and Oadira are sitting in a circle facing the
centre, Each person is seated exactly
opposite one friend. Qadira is sitting neither
next to not exactly opposite Mala or
Parmeet. Panmeet is sitting cxactly opposite
Lata. Neelu is sitting to Parmest’s immediate
right. Mala is sitting opposite Meelu, Dl 1s
sifting to Parmeet’s immed iate left. Who i
sitting opposite Olly?

(A) Purmeet

{B) Lata

") Qoadira

{0} Either Mala or Neelu
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245 Select the option that is related 1o the third
term in the same way as the second term is

Q145 mﬁmﬂﬂmaﬁﬂﬁﬁiwqﬂﬂ#

refated o the first i-:nm g ¥ Hafi |

Oral : Spcaky: : Aural ; il - e owmm o ?
tA) Read®. (A) vgFT

(B} Write (B) Fermm

{C) Sing _ ) {(*} T

(D) Listen Jobriya.in |® ¥

W
In athree-lezged race, Sitdfdita came ahead
of Anil-Sunil; Anju-Manjif came ahead of
sona-Mona, and Luv-Kush came ahead of
Sita-Ciita. IfAnil-Sunil were ahead of Anju-
Manju, who won the three-legged race?
{A) Luv-Kush
(B} Soma-Mong
(C) Aml-Sumnil
(D) Sita-Giita

Q146

Q147 Select the eption that is related to the third

term in the same way as the second term is

Q146 0 G e A Her—ha afe—gie 9
UET, WY-"w WA | Eﬁ:‘ﬁl i
- wa-fer 4§ wed amr &) af
a:i‘-'ra—g-rﬁﬂ e e e
18 i |t av
(C) wFe-gim
(D} Eier—afrem

Q147 =9 ey #1 wE &9 of T W P o
vER AT 8 fiw yeR 5Ea 1e uee

related to the first term o F Hale #
England : London : : Bangladesh: ? TR FE ARy ;7
(A} Kolkata . . (A} Plermm
(B} Alipore Jobriya.ir
(C) Dhaka
(D} Saiimgonj
JHE P CMINISTER' can be coded as QU8 Ff Rl g v § MINISTER' ®)
‘RETSINIM®, then how would vou code ‘RETSINIM® forwn wren 2 il
‘PRESIDENT ™ . ‘PRESIDENT® &1 amr forey?
(A} SIPRETNED A} SIPRETNED

(BY TNEDISERP
(C) PREDENTSI
(D) TNEDIPRES

149 In a certain code, BATY is coded as 16-1-4,

Heaw will CAGE be coded?

(A) Q-1-40-2%

(B) 23-49-1-9

(C) 16-1-4-9

(D) 25-1-9-49

QI50 In a certain code language, THANKS is

coded as SKNTHA. How will REGRET be

coded?

{A4) REGTER

(B) GERRET

(Y TERREG

(D} TRREEG

Jobriya.in

(D) TMNEDIPRES

Q149 ﬁﬁﬁm@w 4 BAD T 16-1-4 T7s
Far amerr &) CAGE 1 e ihrr?
AT 914925 T
(B) 25-49-1-9%
(C) 16-1-4-9 =
(D) 25-1-9-49

Q50 uw fafgg s wmy T_I-[ﬂ.h;ﬁﬂﬂﬂ

SKNTHA &% Wen # | REGRET &1
el _'ag_gf
{A} REGTER

|%} TERREG
(L) TRREEG



Question Option | Question | Option | Question | Option | Question | Option
Mumbar Mumber Mumber Mumber
- A 45, ¥ 33 A 133 B
Z. C 46, B a0 134 C
3. B 47, c g1 B 135 D
4. s 48 A 92 5 136 nohr
5. A 48 A 93 C 137 A
. D 50 g B 138
7 A 51 ¥ a5 B 138 A
B B 52 c 96 C 140 B
9. B 53 A a7 5 141 B
10, 3 54 A 98 L 142 B
11, B 55 D 95 A 143 B
1z B 56 B 100 B | la4 B
13, a 57 C 101 A 145 [¥]
14, G 54 o 103 ] 146 A
15. A 59 B 103 A 147 C
16. 4 ] A 104 o 148 B
17. A 61 C 105 D 149
18. A G2 B 106 150 C
18 A 63 [V 107 B
20. A 64 c 108
21, C 65 A 106 B
22. B B& B 110 B
23. 67 A 111 o
24. c ] B 112 Job riyajn
25, D 64 D 113 D
26, B 70 B, 114
27, 2 71 A 115 C
28, 3] 72 A 116 0]
29, B 73 [ 117 o
30, C 74 B 118
31. C 75 B 119 B
32 A 76 C 120 D
33, D 77 A 121 o
34, C 78 o 122 C
A I "ﬂﬂhl'_;llya._i.ﬂ'ﬂﬂ D
36. C B0 124 D
37. C 81 o 125 A
38, D B2 C 126 o
38. D 83 C 127 C
an. 8 Bd D 128 B
41 A 85 [ 129 c
42, C BE D 130 B
41, B BY C 131 A
a4, [ B L8] 132

ya.in



